PURE MATHS

SIMULTANEOUS EQUATIONS

You have two simultaneous equations:


2x + y = 5 and xy = 3

You can solve them by the following method:

Use one of the equations to express y in terms of x (or the other way round if desired.)

Substitute into the other equation, to obtain an equation for x alone (or y alone).

Solve the equation, if it is quadratic we can factorise or use the formula.

Eg: 
Change xy = 3 to y = 3




    X
Then substitute into the other formula:


2x + 3 = 5

                  x
Multiply through by x and rearrange.

2x² - 5x + 3 = 0

Using factorisation or the formula you should get x = 1.5 or 1

Find the y values too.

X = 1.5 and y = 2 or x = 1 and y = 3

Solve the following pairs of simultaneous equations.

a)
x – 3y = 4 and xy = 2

b)
x² + y² = 3 and y = 2x + 1

c)
y²  = 3x and 2y + 3x = 4

d)
y + 2x = 3 and x² + 3y²  = 7

e)
2y + 3x = 13 and xy = 2

f)
x + y = 2 and x²  + y² = 20

          2     3

g)
xy = 7 and 1 + 1 = 4



        x    y
